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Multiplikationsibungen (12-er) Name:
L 0se jede Aufgabe.
512= 6e12= 1012 = 2¢12=
3¢12= 7¢12= 412= 9e12=
8el12= le12= 5¢12= 2¢12=_
6e12=_ 9e12= le12= 10«12 =
3e12=_ 712=_ 8e12=_ 412=
2¢12= 6e12=_ 5¢12=_ 7¢12=_
le12= 9e12= 8el12=_ 412=
1012 = 3¢12=_ 6e12=_ 10+ 12=
5¢12=_ 9e12= 4¢12=_ 3e12=_
7¢12=_ 2¢12=_ le12= 8e12=_
10+ 12 = 5¢12= 6e12= 1+12=
2¢12= 4¢12= 3¢12= 7¢12=
9e12= 8e12= 12«6=_ 12¢3=_
12.8=_ 12¢2=_ 12+9= 125=_
12¢4=_ 12+10= 12¢1= 12«7=_
12¢7=_ 12.8=_ 12¢5= 124=_
12¢2= 12+10= 12.6=_ 121=_
12¢3=_ 12+9= 12¢5=_ 12+9=
12+10= 12¢4=_ 12¢8=_ 126=_
12¢1=_ 12¢7=_ 12¢2=_ 12¢3=_
12¢7= 12¢2= 12+10= 12¢5=_
12+9= 12¢3=_ 12¢8=_ 121=_
126=_ 12¢4=_ 12¢7=_ 126=_
125= 12«4=_ 128=_ 12+10=
12¢1=_ 12¢2=_ 12 3= 12+9=
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Multiplikationslibungen (12-er) Name: L Osungsschlissel

L 0se jede Aufgabe.

5¢12= 60 6¢12= 72 10« 12= 120 212= 24
312= 36 712= 84 4e12= 48 9.12= 108
8e12= 96 1e12= 12 5¢12= 60 212= 24
6e12= 72 9.12= 108 1e12= 12 10-12= 120
312= 36 712= 84 8¢12= 96 4e12= 48
212= 24 612= 72 5¢12= 60 712= 84
le12= 12 9.12= 108 8¢12= 96 4e12= 48
10«12= 120 3¢12= 36 612= 72 10 12= 120
5¢12= 60 9.12= 108 4e12= 48 3¢12= 36
712= 84 212= 24 le12= 12 8¢12= 96
10«12= 120 5¢12= 60 612= 72 le12= 12
2¢12= 24 4.12= 48 3¢12= 36 712= 84
9.12= 108 8e12= 96 12.6= 72 12.3= 36
12.8= 96 12.2= 24 12.9= 108 12.5= 60
12«4= 48 12.10= 120 12.1= 12 12 7= 84
12« 7= 84 128= 96 12«5= 60 12« 4= 48
122= 24 12+ 10= 120 12«6= 72 12.1= 12
12«3= 36 12.9= 108 12«5= 60 12.9= 108
12«10= 120 12« 4= 48 128= 96 12«6= 72
12«1= 12 12« 7= 84 122= 24 12«3= 36
12«7= 84 12¢2= 24 12+ 10= 120 12«5= 60
12.9= 108 12«3= 36 128= 96 12.1= 12
12«6= 72 12« 4= 48 12«7= 84 12«6= 72
12«5= 60 12« 4= 48 128= 96 12.10= 120
12.1= 12 12.2= 24 123= 36 12.9= 108
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